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Your solution steps and drawings must be very clear to follow.

PLEDGE:

1 pledge that I did not receive any help from anyone in writing,
orally or in any form concerning this exam. Also, I did not talk or write

to anyone about this exam except the course instructor.

Student’s Signature



Problem #1 (20%)

Analyze the beam shown by the flexibility method. Show all results on clear and
complete drawings.
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Problem #2 (20%)
Analyze the beam in problem # 1 by the stiffness method. Show all results on complete
and clear drawings. 3
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Problem #3 (20%)

Analyze the truss shown by the flexibility method.
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Show results on complete and clear drawings.
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Problem #4 (20%)

Analyze the frame shown by the stiffness method. E & I are constant.
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Problem #5 (20%)

Calculate all reactions by the flexibility method. Show all results on complete and clear
drawings.

Beam Cable Ll L b L
2 2 ) —
A 0.5 ft 0.01 ft cable
I 1 0.1 ft*
E 10000 k/fi® 10000 k/ft® )
jO +t
& K/#t
y ¥ J N & L

io-{?{ 77977 10 ¢
A TRB Tk)@

e
J

NAQ

—+

1 iﬁi//I Scs K
Rs
I ser
ek Tpo
Ses S | {p.( |o©

‘ AB
+ | ¢ (. = .
AQ OB < pc RC(/O\)
- 0.0 % 10000



Ae = -1z

éBB — 2,33 ¢5"
-2
Spe = 83340

Sep = 8.33 XD
écC — 2667 Xio®

(_4‘715 . 3‘33 8‘33
= 1o 2,33 A - | = AR
—I ' 26:6 72{} <
‘ ¢ o TS
[z g33 | ke 4
1o — —
2.33 2667 Re ] Re 3

5 {33 833 )|Re o 21 )Rg 425
10 _ _
g3 261 |p ) e M| Re N
_ 1






